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East Los Angeles College

Department of Mathematics
Math 227
Test 3

Consider the probability distribution below.

Number of Days Absent- Let x represent the number of days a student is absent in a semester.

P(x)
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What's the probability a student misses:

1)
2)
3)
4)
5)
6)
7)
8)
9)

No days?

One day?

Two days?

Seven days?

At least one day?

No more than two days?

Less than four days?

More than three days?

What’s the expected number of days? Hundredths

10) What's the variance for this distribution? Hundredths
11) What's the standard deviation for this distribution? Hundredths

Three Hearts Game- Las Vegas has the Three Hearts Game in which a person must select three
different hearts from a standard deck to win a prize valued at $ 500. If it costs $ 4 to play this
game, answer the following questions.

12) What's the probability of winning this game? Ten-Thousandths
13) What’s the probability of losing this game? Ten-Thousandths
14) What's the expected value for this game? Hundredths




Social Media- According to a college survey, 65% of students have a social media account. If
you select 5 students at random, what’s the probability:

15) None have a social media account? Thousandths

16) One has a social media account? Thousandths

17) At least one has a social media account? Thousandths

18) Less than three have a social media account? Thousandths

19) What's the expected number who have a social media account? Hundredths
20) What's the standard deviation for this distribution? Hundredths

Social Media- According to a college survey, the amount of time students spend on social
media is normally distributed with a mean of 85 minutes and a standard deviation of 18
minutes. What percent of students spend:

21) At least 50 minutes on social media? Thousandths

22) No more than 120 minutes on social media? Thousandths

23) More than 140 minutes on social media? Thousandths

24) Between 50 minutes and 120 minutes on social media? Thousandths
25) Less than 60 minutes on social media? Thousandths

26) What’s your name?
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NOTE: For values of z above 3.09, use 0.4999 for the area.
*Use these common values that result from interpolation:

z score Area
1.645 04500 ---
2.575 04950 -

From Frederick C. Mosteller and Robert E. K. Rourke, Sturdy Statistics, 1973, Addison-Wesley Publishing Co., Reading, MA. Reprinted
with permission of Frederick Mosteller.
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